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June — Examination 2024

B.Sc. (Part I) Examination
PHYSICAL CHEMISTRY
Paper : CH-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. 1) Iflog 2 = 0.3010 and log 3 = 0.4771, then
find out the value of log 108.
g log 2 = 0.3010 & log 3 = 0.4771 &, @
log 108 @1 A A@ FHIT |

(i) Change the (1101110), binary number into
decimal number.

(1101110), =78 &S * SIS HEAHT H
gfafda wifsa)

(ii1) What is compressibility factor ‘Z’ 7 Explain
the meaning of Z < 1 and Z > 1.
gefiead Ok ‘2 T 2 Z<1aZ>1H
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(iv) What is meant by mesomorphic state ?
Explain.
HiEmifhe sTowen 71 § 7 TS|

(v) What is law of constancy of interfacial
angles ?

SRS 10 & feerar 1 f=m =1 T ?

(vi) Explain the term ‘Congulation’. Give

example.
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(vil) What do you mean by molecularity and order

of reaction 7 Give example.
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Section-B 4%x3%=14

(Short Answer Type Questions)
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2. Integrate with respect to x :
[ @x-1) (x+2) ax.
x & F<H H HHREE HIVY
[ @x-1) (x+2) dx.
3. Prove that the average kinetic energy of a molecule

3
is equal to 5 kJ.
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4. Give Eyring theory of liquids.
zal @1 R fagm i

5. Write the full name of RAM and ROM. Explain

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries
3%, marks.
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and compare it.
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6. Explain the terms Isotropy and Anisotropy.
TRl Ta foemeiehdr Isi & HEs |

7. What is Brownian movement and Tyndall effect ?
Explain it giving the diagram.

SetEA i aun feved g w1 ® 2 fom @ wHEmsu)
12+2
8. What are emulsions ? Give two properties and two

applications of emulsions.

THYE M B T 7 THWME & & U F dN STIIAN
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9. What is meant by zero order reaction ? Derive rate

equation and half life period of zero order

reaction.

I e Afufsman 9 o= o T 2 3= wife sifufwen
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Section-C 2x7=14
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. Explain the Maxwell molecular velocity distribution
law. How is this verified experimentally ?
Toqad & ofvas o & famor fam = s
TS AR omad 'g fafy @1 oo wifew ) 4+3
11.(a) Write short note on Seven segment cell and
Dipole-dipole interaction.
[ @ve da o fgyd-feyd areis fa
qfyga feoqoft fafe | 242
(b) Convert the following Wiess symbols of faces
into Miller symbol :
1 3a:ob:c
(i) a:3b: 2

(iil)) a :-b : owoc

Toleh] & et agd Tdieh] &1 fHeR gdiehi

7 ufafia =i :

(1) 3a:wb:c

(1) a:3b: 2

(111) a : -b : woc 1+1+1
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12.(a)

(b)

13. (a)

(b)

What are Gels ? Give two properties and two
applications of Gels.

S R E 2 WA H QY 9 & egEn
iy

Explain the cleansing action of soaps and
detergents.
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Derive the integrated rate constant for first
order reaction. Give the values of ¢; ,, for this
reaction.

gom wife eIfufsren & fou wmmRfaa a1 s
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If first order of reaction complete the 90%
of reaction within 10 minutes, then calculate
the value of rate constant.

TH Yoq wife @t sifufdar w1 90% i 9 H
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